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Please draw a | box | around your answers. No calculators, cell-phones, notes, etc. allowed.

1.(2x 6pts) Compute the following limits. DO NOT USE L’HQSPITAL!
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3.(4x6pts) Calculate the following derivatives.
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(D) Find 3 at the point (1,2) on the curve 2%y —zy? =1 —x — 3.
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4.(2x 10pts) Give the equations for the following tangent lines.
(A) The tangent line at =4 to the following function.
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(B) The tangent line at (1/4, 2) to the following curve.
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5.(18pts) Suppose that the functions f(x) and g(z) are continuous on the interval [a, b] and that

e f(a) < g(a),

o f(b) > g(b).
Show that there is ¢ € [a, b] such that f(c) = g(c¢). (Hint: Since f(z) and g(z) are continuous the

function f(z) — g(z) is also continuous on [a, b].)
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6.(20pts) A particle moves on the hyperbola z? — 18y% = 9 such that its y-coordinate increases at

a constant rate of 9 units per second. How fast is the z-coordinate changing when z = 97
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